
Cubes And Cube Roots 
Ex. 6.1
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Ex. 6 .1

1 (6(3 = 7 6)x)- 6)x( 6) = -216(2)

2. (4013 = 40 x 40 x 40 = 64000 (D)

3 (i) = (i)+ ()x()= (B)

4. (0 .3)3 = 0 .3x0 .3x0 . 3 = 0 . 027 (D)

5 (3 - " = (3 = (8)3 =-x=

c . (D) is false as cube of a number

ending with zero has three zeron
at its extreme right.

7a(25)3 = 25x 25x25 = 16625

b . (18)3 = 18x 18x 18 = 5832

e. (63)3 = 63x63x63 = 250047

d . (133)3 = 133x133x133 = 2352637

8a (z) = (z)x(z)x) z)=

2 "=
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~ [s) = (Es) x() x()=

d (e) =( = Ex *E=

9a . 10 .13 = 0 . 1 x 0 .10 . 1= 0 - 007

b . 10 . 02)
"
= 0 . 02x0 . 02x0 . 02= 0 . 000008

e (0 . 5)3 = 0 . 5x 0 . 5x0 . 5 = 0 . 125

d . (1 . 3)3 = 1 .3x1 .3x1 . 3 = 2 . 197

10a . 2/100
250
sLaS

5

100 = 2x2xSxS

Since 2 and I do not occur in a

triplet
: too is not a perfect cube

b . 2000
213500
2So
323375
3125
375
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3375
S 125L
SLS
S

27000 = 2x2x2x3x3x3x5xSxS

Since 2 , 3 and 5 occur in a triplet
: 27, 000 is a perfect cube.

& . 214096
222048
2 1024
2 512E
1282

2↳

E
2
24
2

4096 = (x2x2x(x2x2x((x2x2xx2
Since 2 occurs ina triplet
:. 4096 is a perfect cube

d 222435
3AS
3105
35
45
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3445
35
S

2430 = 2x(3x3x3x5x3x5

Since 2
,
3 and I do not occur in a

triplet
:. 2430 is not a perfect cube.

2 . 19859
19361

19

6859 = 19x19x19
Since 19 occurs in a triplet
.. 6859 is a perfect cabe.

f 56625
525
5
54125
525

6

15625 = x3x5xx5xS

Since 5 occurs in a triplet
:. 15625 is a perfect cube

11a 37
72343
7249
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1372= 2x2xx7x7

Since 2 does not occur ina triplet
.. We multiply 1372 by 2 to make it
a perfect ener
:. Required smallest number = 2

b .2essy
245292
2246
31323
34447
1473
749

7

10581 = 2x2x2x
*

(3x3x7x7
Since 7 does not occur in a triplet
.. We multiply 10584 by 7 to make it

a perfect cube
:. Required smallest number = 7

e . 31125
32375
55
shas
S

1125 = 3x3xxS

Since 3 does not occur in a triplet
: We multiply 1125 by 3 to make it
a perfect cube
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: Required smallest number = 3

72a. 32
55
sha

5

3125 = (xxSx5xS
Since 5 does not occur in a triplet
:. We divide 3125 by 5xS = 25 to
make it a perfect cube
:. Required smallest number = 25

b . 2524
22
111331
1211
11

5324 = 2x2x*x11 x 11

Since 2 does not occur in a triplet
.. We divide 5324 by 2x2 = 4 to make
ita perfect cube
:. Required smallest number = 4

e 217295
3↳45
3125
3Los
135
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35
3445
35
5

7290 = 2xx3x3x33x3xS
Since 2 and I do not occur in a

triplet
.. We divide 7290 by 2x5 = 10 to make
ita perfect cube
:. Required smallest number = 10
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